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s 16 9 11,0 2 0,9 0,9 10C3k+bn 78 0,8 2 19 22 | 300 3aXHUCHI CPC KopeHesa ry6ka 393 HeMae
eﬁi’ﬂ:ﬂ?ﬁim 93 1 73 4 [ 09 | o9 10C3 73 | o7 3 17 | 18 [200] saxucni CPC KopeHesa ryoxka 318 | Hemac
Pazom CPC 18,3 1,8 1,8
: 83 4 3.1 1 0,9 0,9 10C3 75 0,7 1A 27 30 420 POJI €PC Kopenesa ry6ka 407 Hemae
%ﬁﬁiﬁ:‘o‘e 83 6 2,3 4 09 | 09 9C31 /13 78 0,7 1A | 26 | 28 | 360 POJ CPC KopeHesa ryoka 400 | ke
Pazom CPC 5,4 1,8 1,8 )
62 9 8,6 2 0,5 0,5 9C31/13+Bn 73 0,7 1 23 28 | 320 3aXHMCHI CPC Kopenesa ry6ka 190 HeMmae
72 23 0,8 0,8 0,8 10C3 63 0,6 1A 22 26 | 280 3aXHCHI CPC KopeHesa ry6ka 338 HeMae
Jhorencbke 77 12 1,4 1 0,6 0,6 10C3+Bn 62 0,6 1A 22 26 | 280 3aXMCHI CPC Kopenesa ry6ka 239 HeMae
Pazom CPC 10,8 1,9 1,9
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